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Q. Largest gland of body :
(a) Liver

(b) Pancreases

(c) Pituitary

(d) Thyroid
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@ayushranjan728 3 hours ago

Largest Glang- Liver
Shortest Gland-Pineal
Thank for your efforts sir g,

e GF

@Babitakumari-uilty 9 hours ago

Options -(A).... Largest gland - liver ,,, smallest gland - pineal gland ...... Thank you so
mUChSirllllllllllllllllll#######

e 2 GF

Reply

Reply

[@AmitKumar-mz8yg 9 hours ago

A -The liver is the largest gland in the human body. It is also the largest (internal)organ 9

in our body and can weigh up to 1.5 kg for a human adult. That is, about 1/50th of the
body weight is because of the liver.

e GF

@POOJAVERMA-gm3di 9 hours ago
Ans- A liver

Smallest gland - pineal gland

Largest endocrine gland- thyroid gland
Thankyou so much Sir ¥

Reply

@VARSHAKUMARI-mf2dy 9 hours ago

Option A is right answer liver._liver is the largest gland in human body . It is located in
the upper right portion of the abdaminalcavity.. @ ¢

ik

@dharmrajkumar4668 4 hours ago

Reply

The liver is the largest gland in the human body. It is also the largest (internal)organ in
our body and can weigh up to 1.5 kg for a human adult. That is, about 1/50th of the
body weight is because of the liver... @ @ o' o' o' o' o' o'

e GF

@shivanisingh14 9 hours ago

Reply

Largest gland is liver and smallest gland is pineal gland .. @
ik

@PritiXSeenu 2 hours ago

Largest gland - Liver
storage location for fat-soluble vitamins

Reply

Smallest gland-pineal gland
situated at the dorsal side of the forebrain .
Function- balance the rhythm of the body and secrete melatonin hormone.

Show less
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@sudeepkumarbiswas3730 8 hours ago
(A) Largest gland in human body- LIVER

Largest endocrine gland- THYROID
Smallest Gland- PINEAL GLAND

e’ GIP Repy
@Annusinghdithg 9 hours ago
Option A

The liver is the largest gland found in humans, and

The smallest gland found in the body of a human being is the pineal gland.

e GP  Repy

@akashshukla1197 & hours ago
Adda247 Ki poori team ko dhanyavad !

e ' G Repy

@vinay84 9 hours ago

Largest gland is Liver But largest endocrine gland is Thairoid and smallest gland is

pineal

e’ GI Repy
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(@tanukatare4164 9 hours ago

Largest gland of body -liver
Smallest gland of body - pineal gland

e’ GP  Reply

@Nkkushwaha-qz4zy 9 hours ago
Option - A liver
thank you sir very nice session

e 'GP Reply

(@sapnagzp3506 7 hours ago

Adda

e

Sir, pituitary gland and pineal gland both are the smallest gland.what is the difference

between these,plz sir clr this doubt.
' GF Reply

{@umashankarkumard72 9 hours ago

The largest gland in human body is ( LIVER) and the smallest gland in human body
is(PINEAL) but according to the question rhe largest gland will be (LIVER)—approax
1.5 kg weight of LIVER THEN THE CORRECT OPTION WILL BE OPTION NO

AAALA

il ' GH Reply
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@_Rajan_Sahu 9 hours ago
sir Skin is external largest orgon of body

e’ GIP Repy

@91 4shivanshukumard 9 hours ago
Largest is liver gland and smallest gland is pineal gland

e ' G Repy

(@sapnagzp3506 7 hours ago

Today's ans is Liver.

Largest gland of human body - liver
Smallest gland of human body - pineal

2nd largest endocrine gland - pancrease
Show less

e ' GJ Reply

@aashikhussain7882 9 hours ago

HW: A and small gland is pincal WY PP PP PVVVY

e’ GIP Repy

¥

(@DEALSonWHEELS-ujégv 9 hours ago

Adda

e

answer is LIVER the largest gland in human body,and weighs upto 1.5kg.

e ' G Reply
@jitendra_13 2 hours ago
HW-A

e’ GP Reply

({@_Rajan_Sahu 9 hours ago (edited)
liver,,..pineal

il ' GH Reply

{@_Rajan_Sahu 9 hours ago
sir thiorid @M si h

e 'GP Reply

@alok3.0kumar50 9 hours ago
Hw_Liver, pinial

e ' G Reply

% & @€

6 @

@shailendrapratapsingh5029 & hours ago
A

e’ GJ Repy

@mainakmalaynandi1958 & hours ago

Liver
e ' G Reply

[@raviraj6659 7 hours ago
Aaaa prtalalagaeye [ (8 L7 08

e ' GF Repy

@sachinkumar7512 7 hours ago
Liver

il ' GF Reply

@DeepakKumar-yj9hi 8 hours ago
Liver

e’ GJ Repy
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Q. pH of saliva is:
(a) 2.0
(b) 4.8
(c) 6.8
(d) 8.0

U. oY I pH't'?I?IT % 3
(W) 2.0
() 4.8
(¥Y) 6.8
(3N 8.0
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Q. Which of the following is most important for growth of children upto the age
of 14?

(a) Proteins
(b) Vitamins
(c) Fats

(d) Milk

U. 14 9§ & 3G dh & dedl & Apd & for Rafaf@a & @ ala q@d

HAcayoT &7
(T) W&
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Q. Which one of the following is not a digestive enzyme?
(a) Pepsin

(b) Renin

(c) Insulin

(d) Amylase

q. Aafaf@a d @ 9 O urad TSsH el 67
(T) afcaa

(dr) AT

(&) sgfea
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Q. Carbohydrate is stored in the body as:
(a) Glucose

(b) Starch

(c) Glycogen

(d) Sucrose
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Q. Process of digestion is helped by :
(a) Enzyme

(b) Hormone

(c) Mineral

(d) Vitamin

U. Uil &1 giehar A A A § -
(T) TATSH
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GUECIGE
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Q. Which of the test helps in diagnosis of cancer?
(a) Urine test

(b) Blood test

(c) Biopsy

(d) X-ray

q. i 9T qA&IT FaX & AT H Ace ar &7
(T) FF q&ToT
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Q. Which of the following statements is correct?

(a) Magnesium is not required at all for our body.

(b) Calcium is the most abundant mineral in our body.

(c) Sodium and chloride are required in huge amounts for our body.

(d) Minerals are least important for our body. [SSC JE 14 NOV 2022 SHIFT 3]

q. A@d AT A A HiT Ter §7?
(T) TR IRR & forw AvNfRATa Hr Regpa 3nadwmar a8 B
(1) HfEHA TAR W A T U= A1 A @it ¢
(@) AR WR & o |l A # AR 34K FarEs i 3maTsar adr g
@) Efas gAR WR & foT J9d FHA Agcaqol ¢
[SSC JE 14 NOV 2022 SHIFT 3]
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Q. Which of the following is NOT a sign of under eating?

(a) Social withdrawal

(b) Eating unusually large amounts of food with no apparent change in weight
(c) Hiding or discarding food

(d) Denial of feelings of hunger [SSC JE 14 NOV 2022 SHIFT 3]

q. Aafaf@a & & P9 A1 FF @ T Hbd el &7?
(T) AMHATTSS aragdr

(&) a5 & IS TUT URAdd & T AT 9 § T8) AT JA Aol war
(dY) HISIA TUEAT AT FFTAT

(&) @ FHr HGAHT F FAPR [SSC JE 14 NOV 2022 SHIFT 3]
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Q. Which of the following halogens are solid and liquid at room temperature,
respectively?

(a) Fluorine and chlorine

(b) Iodine and bromine

(c) Chlorine and bromine

(d) Bromine and fluorine [SSC JE 14 NOV 2022 SHIFT 3]

g.ﬁmﬁiﬁaﬁ@aﬁa@%@aaamw:ma;mmwmaﬂtmm
?

(T) Fai 3R Fellld

(&) 3 3R sela

(@) FadieT 3R A

@ el 3R Tl [SSC JE 14 NOV 2022 SHIFT 3]
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Q. Ecological succession is defined as:

(a) process by which geological changes take place

(b) process by which the mix of species and habitat in an area changes over time
(c) process of deforestation

(d) process by which the many species get extinct [SSC]JE 14 NOV 2022 SHIFT 3]

7. iR EUfde 3aUReR & 39 UhR URATRG fhar a=r §:
(T) ufehar o gRT Haemiae aRade gid &
(&) uferar o ad g fordr &3 & ganfadar 3R 3mag &1 T g3 & 91y
geoldl &
(IY) gar i wers Hr ufchar
31) uferar fSad gRT *S genfaar ey & S §
[SSC JE 14 NOV 2022 SHIFT 3]
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Q. What type of lens is a magnifying glass?
(a) Convex Lens

(b) Concave Lens

(c) Parabolic Lens

(d) Plane Lens [SSC JE 14 NOV 2022 SHIFT 3]

. a4 o F fohd UdR &1 o F &7

(T) 3 o9

(&) 3add o

() Waa@d o

() HAdA olF [SSC JE 14 NOV 2022 SHIFT 3]
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Q. Which of the following is NOT an objective of diet therapy?
(a) Promotion of recovery formulation of the diet to meet the needs of the patient taking

into consideration her or his food habits
(b) Correction of nutritional deficiencies; if any

(c) Education and counselling of the patient regarding the need to adhere to the prescribed
diet.

(d) Use of unrefined grains for diet control programme. [SSCJE 14 NOV 2022 SHIFT 3]

y. Aeafai@a 3 & @l a1 3R Rfhcar &1 3327 a8 82

(T) W i AT HT el P DAF FA WA FT AP STRCA P W A & AT 3R &
qAUITA FAPIOT B g@rdr ST

(&) diwor ot HiAAT FT GUR; IR P

(@) AR 3MER &7 UTeld ke &Y aThar & aX F W60 FHr few 3R axreed)

(3) 3R AT FRGA & T URSPHa 31T T 3UAPT| [SSC JE 14 NOV 2022 SHIFT 3]
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Q. Which product is derived from limestone and diatomaceous earth, and is used
as an antacid and as an anticaking agent in the preparation of food?

(a) Calcium silicate

(b) Potassium sulfate

(c) Disodium phosphate

(d) Sodium ferrocyanide [SSC JE 14 NOV 2022 SHIFT 3]

U. Pl T 3G g Tl 3R srafaw Bed ¥ uig @ar &, 3R siea &
IR A v verfds 3R ue TSR Tele & FT H IuAer AT FAAT 7

(T) dferrga RAferde

() QeI Tethe

(&) Taf3ge wickhe

@) Tz WASAES [SSC JE 14 NOV 2022 SHIFT 3]
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Q. C,H,,, belongs to which of the following?
(a) Saturated hydrogen

(b) Unsaturated salts

(c) Unsaturated hydrocarbon

(d) Saturated minerals [SSC JE 14 NOV 2022 SHIFT 3]

. C,H,, A=faf@a # & fraa gafaa &7

(T) HJH TSHoTA

CHELGLEEGEY

() 3rqH TFIPIe
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Q. As per physicists and their major contributions/discoveries, Which of the
following pair is INCORRECT?

(a) Louis Victor de Broglie - Wavenature of matter

(b) Victor Francis Hess - Cosmic radiation

(c) Paul Dirac - Liquid helium

(d) John Bardeen - Theory of superconductivity [SSC]JE 14 NOV 2022 SHIFT 3]

. Hifawiael 3R 30 yaE AeEl/aet $ IR, Rrafaf@a #& @ ala @
SIS el &7

(T) s TaereT &1 srell - e dr oY uepla

() e wifew & - srEsy fafesor

(#) giel B - el Ao

&) S T - guehsiaeiad &1 fga [SSC JE 14 NOV 2022 SHIFT 3]
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Q. are plants that have seeds but no fruits.

(a) Pteridophytes

(b) Mosses

(c) Gymnosperms

(d) Bryophytes [SSC JE 14 NOV 2022 SHIFT 3]

q g § forerst fier af @1 € «fher ®el 1 gl

T.
(T) ¢ReIPISCH
(dh) Pr$

() s
(3 SRATBIETH [SSC JE 14 NOV 2022 SHIFT 3]



